TWMS J. App. Eng. Math. V.9, No.1, Special Issue, 2019, pp. 165-171

TAUBERIAN THEOREMS FOR THE PRODUCT OF BOREL AND LOGARITHMIC METHODS OF SUMMABILITY

S. A. SEZER¹, \S

ABSTRACT. In this paper, we show that if a sequence is summable by the product method $(B)(\ell, k)$, then it is also summable by the logarithmic method (ℓ, k) , provided two-sided conditions of Hardy-type are satisfied. We also obtain some classical Tauberian theorems and their generalizations as special cases of our main theorems.

Keywords: Tauberian theorems, Borel summability, logarithmic summability, Hardy-type conditions.

AMS Subject Classification: 40E05

1. INTRODUCTION AND BACKGROUND

Suppose throughout that (s_n) is a sequence of complex numbers and k is any nonnegative integer, unless indicated otherwise. We say that a sequence (s_n) is summable to ξ by the Borel method (B), briefly $s_n \to \xi(B)$, if

$$\sum_{n=0}^{\infty} \frac{s_n}{n!} x^n \text{ converges for all } x \in \mathbb{R},$$

and

$$\lim_{x \to \infty} e^{-x} \sum_{n=0}^{\infty} \frac{s_n}{n!} x^n = \xi.$$

The sequences of logarithmic means of (s_n) are defined by

$$t_n^{(1)} = t_n^{(1)}(s_n) = \frac{1}{\ell_n} \sum_{j=0}^n \frac{s_j}{j+1},$$

and for k = 2, 3, ...,

$$t_n^{(k)} = t_n^{(k)}(s_n) = \frac{1}{\ell_n} \sum_{j=0}^n \frac{t_j^{(k-1)}}{j+1},$$

¹ Department of Mathematics, Istanbul Medeniyet University, Istanbul, Turkey.

e-mail: sefaanil.sezer@medeniyet.edu.tr; ORCID: http://orcid.org/0000-0002-8053-9991;

[§] Selected papers of International Conference on Life and Engineering Sciences (ICOLES 2018), Kyrenia, Cyprus, 2-6 September, 2018.

TWMS Journal of Applied and Engineering Mathematics, Vol.9, No.1, Special Issue, 2019; © Işık University, Department of Mathematics; all rights reserved.

where

$$\ell_n = \sum_{k=0}^n \frac{1}{k+1} \sim \log n.$$

Here, we use the symbol $f_n \sim g_n$ to mean that $f_n/g_n \to 1$ as $n \to \infty$.

We say that (s_n) is summable to ξ by the k-times iterated logarithmic method (ℓ, k) , briefly $s_n \to \xi(\ell, k)$, if

$$\lim_{n \to \infty} t_n^{(k)} = \xi.$$

Evidently, the summability $(\ell, 0)$ is the same as usual convergence. Note that, trivially, (ℓ, k) summability of a sequence implies its (ℓ, k') summability to the same number, whenever $k \ge 0$ and k' > k. However, the converse is not necessarily true provided by the example (see [20]):

$$s_n = ((-1)^n (n \log n + (n+1) \log(n+1))).$$

Here, (s_n) is summable $(\ell, 2)$ to 0, but not summable $(\ell, 1)$.

The product summability method $(B)(\ell, k)$ is obtained by superimposing (ℓ, k) summability on (B) summability.

We say that (s_n) is summable to ξ by the product method $(B)(\ell, k)$, and write $s_n \to \xi(B)(\ell, k)$, if $(t_n^{(k)})$ is Borel summable to ξ . $(B)(\ell, k)$ method reduces to Borel summability if k = 0.

A method of summability is called regular if it sums each convergent sequence or series to its usual sum. Since, Borel and logarithmic methods are regular (see [7]), $(B)(\ell, k)$ summability is also regular.

Product summability methods have a long history; see for example the papers [1, 17, 19] and they found new attention recently in [2, 3, 4] and [5, 6, 12].

Throughout this study, we write $\theta_n = O(1)$ to mean that (θ_n) is a bounded sequence and $\theta_n = o(1)$ to mean that (θ_n) converges to zero. Moreover, $f_n = O(g_n)$ means that $f_n/g_n = O(1)$ and $f_n = o(g_n)$ means that $f_n/g_n = o(1)$.

The backward difference of (s_n) is defined as

$$\Delta s_n = \begin{cases} s_n - s_{n-1} & , n \ge 1\\ s_0 & , n = 0 \end{cases}$$

The difference of a sequence and its logarithmic mean is represented by

$$s_n - t_n^{(1)} = v_n^{(0)} \tag{1}$$

where

$$v_n^{(0)} = v_n^{(0)}(s_n) = \frac{1}{\ell_n} \sum_{j=1}^n \ell_{j-1} \Delta s_j$$

The identity (1) is called the logarithmic Kronecker identity. Besides, for all $k \ge 1$, we introduce k-th order iterated logarithmic means of $(v_n^{(0)})$ by

$$v_n^{(k)} = v_n^{(k)}(s_n) = \frac{1}{\ell_n} \sum_{j=0}^n \frac{v_j^{(k-1)}}{j+1}$$

The sequence (s_n) is called slowly oscillating with respect to summability $(\ell, 1)$ if

$$\lim_{\lambda \to 1^+} \limsup_{n \to \infty} \max_{n < m \le [n^{\lambda}]} |s_m - s_n| = 0$$
⁽²⁾

or equivalently

$$\lim_{\lambda \to 1^{-}} \limsup_{n \to \infty} \max_{[n^{\lambda}] < m \le n} |s_n - s_m| = 0, \tag{3}$$

where $[n^{\lambda}]$ denotes the integer part of n^{λ} .

The interest in summability methods is that they provide a way to understand sequences or series which are divergent. There are, for instance, important summability methods due to Abel, Euler, Cesàro, Borel and others.

Given two summability methods (X) and (Y), we write $(X) \subseteq (Y)$ if a sequence summable (X) is summable (Y) to the same number. Also, if there is a sequence summable (Y) but not summable (X), we write $(X) \subset (Y)$.

For any two regular summability methods (X) and (Y) with $(X) \subset (Y)$, the sufficient conditions under which $s_n \to \xi(Y)$ implies $s_n \to \xi(X)$ are called Tauberian conditions and the corresponding theorems are called Tauberian theorems. Most frequently in the theory of summability, the case in which method X is equivalent to the usual convergence is considered.

The main object of the present paper is to prove Tauberian theorems for the $(B)(\ell, k)$ summability.

2. Lemmas

In this section, we shall give the following lemmas required in the proofs of our main theorems.

The identities below were obtained in the study of Sezer and Çanak [18].

Lemma 2.1. For every integer $k \ge 0$, the assertions

(i)
$$t_n^{(k)} - t_n^{(k+1)} = v_n^{(k)}$$
,
(ii) $v_n^{(k)} - v_n^{(k+1)} = (n+1)\ell_{n-1}\Delta v_n^{(k+1)}$,
(iii) $v_n^{(k)} = (n+1)\ell_{n-1}\Delta t_n^{(k+1)}$

are valid.

The following lemma is a corollary of the theorem given by Kwee (Theorem A, [9]).

Lemma 2.2. If $s_n \to \xi(\ell, 1)$ and (s_n) is slowly oscillating with respect to summability $(\ell, 1)$, then (s_n) is convergent to ξ .

Lemma 2.3. If $s_n \to \xi(B)$, then, for each positive integer $k, t_n^{(k)} \to \xi(B)$.

The above lemma due to Kwee [11] indicates that $(B)(\ell, k)$ method includes (B) method. Also, it can be easily seen via Lemma 4 of Parameswaran [15] that this inclusion is strict.

Lemma 2.4. If (s_n) is slowly oscillating with respect to summability $(\ell, 1)$, then $(v_n^{(0)})$ is bounded and slowly oscillating with respect to summability $(\ell, 1)$.

Proof. Since we have the identity

$$\frac{1}{\ell_n} \sum_{j=0}^n \frac{s_n - s_j}{j+1} = \frac{1}{\ell_n} \sum_{j=0}^n \sum_{i=j+1}^n \frac{\Delta s_i}{j+1} \\ = \frac{1}{\ell_n} \sum_{j=1}^n \ell_{j-1} \Delta s_j = v_n^{(0)},$$

slow oscillation of (s_n) implies boundedness of $(v_n^{(0)})$ from the proof of Theorem 2 in [14]. Now, we need to show that $(v_n^{(0)})$ is slowly oscillaiting with respect to summability $(\ell, 1)$. From Lemma 2.1, for k = 0 we have $\Delta t_n^{(1)} = \frac{v_n^{(0)}}{(n+1)\ell_{n-1}}$. Then, for some number H > 0

$$\left|\Delta t_n^{(1)}\right| = \left|t_n^{(1)} - t_{n-1}^{(1)}\right| \le \frac{H}{(n+1)\ell_{n-1}}.$$

Hence, we find

$$\begin{aligned} \left| t_m^{(1)} - t_n^{(1)} \right| &\leq \sum_{j=n+1}^m \left| t_j^{(1)} - t_{j-1}^{(1)} \right| \\ &\leq \left(\frac{1}{(m+1)\ell_{m-1}} + \frac{1}{m\ell_{m-2}} + \dots + \frac{1}{(n+2)\ell_n} \right) H \\ &\leq \left(\frac{\ell_m - \ell_n}{\ell_n} \right) H. \end{aligned}$$

It follows from the last inequality above that

$$\max_{n < m \le [n^{\lambda}]} \left| t_m^{(1)} - t_n^{(1)} \right| \le \left(\frac{\ell_{[n^{\lambda}]} - \ell_n}{\ell_n} \right) H.$$

$$\tag{4}$$

Next, taking lim sup of both sides of the inequality (4) as n tends to ∞ yields

$$\limsup_{n \to \infty} \max_{n < m \le [n^{\lambda}]} \left| t_m^{(1)} - t_n^{(1)} \right| \le \limsup_{n \to \infty} \left(\frac{\ell_{[n^{\lambda}]} - \ell_n}{\ell_n} \right) H.$$
(5)

Now, letting $\lambda \to 1^+$ from the both sides of (5) we obtain

$$\lim_{\lambda \to 1^+} \limsup_{n \to \infty} \max_{n < m \le [n^{\lambda}]} \left| t_m^{(1)} - t_n^{(1)} \right| \le 0,$$

which means $(t_n^{(1)})$ is slowly oscillating with respect to summability $(\ell, 1)$. Therefore, considering the identity (1) slow oscillation of $(v_n^{(0)})$ follows.

The following lemma due to Kwee [10] indicates that convergence of $(v_n^{(0)})$ to zero is a Tauberian condition for the $(\ell, 1)$ summability.

Lemma 2.5. If $s_n \to \xi(\ell, 1)$ and $v_n^{(0)} = o(1)$, then (s_n) is convergent to ξ .

Our main theorems based on the following well-known Tauberian results given for the Borel summability in Hardy's famous book of Divergent Series [7].

Lemma 2.6. If $s_n \to \xi(B)$ and $\sqrt{n}\Delta s_n = O(1)$, then (s_n) is convergent to ξ .

Lemma 2.7. If $s_n \to \xi(B)$ and $\sqrt{n}\Delta s_n = o(1)$, then (s_n) is convergent to ξ .

3. Main Results

In this section, we state and prove following Tauberian theorems for the $(B)(\ell, k)$ summability.

Theorem 3.1. If $s_n \to \xi(B)(\ell, k)$ and

$$v_n^{(k)} = O(\sqrt{n}\log n),\tag{6}$$

then $s_n \to \xi(\ell, k+1)$.

Proof. By the hypothesis of the theorem, we have $t_n^{(k)} \to \xi(B)$, which also implies from Lemma 2.3

$$t_n^{(k+1)} \to \xi(B). \tag{7}$$

Then, since

$$v_n^{(k)} = (n+1)\ell_{n-1}\Delta t_n^{(k+1)} = O(\sqrt{n\log n}),$$

we get

$$\sqrt{n}\Delta t_n^{(k+1)} = O(1). \tag{8}$$

Thus, it follows from (7), (8) and Lemma 2.6 that $s_n \to \xi(\ell, k+1)$.

Corollary 3.1. ([11]) If $s_n \to \xi(B)$ and

$$v_n^{(0)} = O(\sqrt{n}\log n),\tag{9}$$

then $s_n \to \xi(\ell, 1)$.

Proof. Take k = 0 in Theorem 3.1.

Corollary 3.2. ([16]) If $s_n \to \xi(B)$ and

$$s_n = O(\sqrt{n}\log n),\tag{10}$$

then $s_n \to \xi(\ell, 1)$.

Proof. Considering the assumption (10) together with Stolz-Cesàro theorem ([13], p.85), we obtain $t_n = O(\sqrt{n} \log n)$. Hence, the identity (1) implies $v_n^{(0)} = O(\sqrt{n} \log n)$, which completes the proof.

Corollary 3.3. If $s_n \to \xi(B)(\ell, k)$ and (s_n) is slowly oscillating with respect to summability $(\ell, 1)$, then (s_n) is convergent to ξ .

Proof. Taking Lemma 2.4 and the slow oscillation of (s_n) into account, we have $v_n^{(k)} = O(1)$ and the slow oscillation of $(t_n^{(k)})$ for each integer k > 0. Then, we also have $v_n^{(k)} = O(\sqrt{n} \log n)$. This yields

$$\lim_{n \to \infty} t_n^{(k+1)} = \xi \tag{11}$$

from Theorem 3.1. Now, combining Lemma 2.2 and the slow oscillation of $(t_n^{(k)})$, it follows

$$\lim_{n \to \infty} t_n^{(k)} = \xi. \tag{12}$$

Considering (11) and (12) and arguing in the same way, we observe that (s_n) is convergent to ξ .

Corollary 3.4. If $s_n \to \xi(B)(\ell, k)$ and

$$n\log n\Delta s_n = O(1),\tag{13}$$

then (s_n) is convergent to ξ .

Proof. The proof is completed by the fact that the assumption (13) implies the slow oscillation of (s_n) .

Corollary 3.5. If $s_n \to \xi(B)(\ell, k)$ and

$$n\log n\Delta s_n = o(1),\tag{14}$$

then (s_n) is convergent to ξ .

Proof. Condition (14) is sufficient for (13).

169

Note that, the above corollary is a generalization of a classical Tauberian theorem due to Ishiguro [8] given for the $(\ell, 1)$ summability.

Theorem 3.2. If $s_n \to \xi(B)(\ell, k+1)$ and

$$n\log n\Delta v_n^{(k+1)} = o(1),\tag{15}$$

then $s_n \to \xi(\ell, k)$.

Proof. Since $t_n^{(k+1)} \to \xi(B)$, we easily get

$$t_n^{(k+2)} \to \xi(B) \tag{16}$$

by using Lemma 2.3. From the identity

$$t_n^{(k+1)} - t_n^{(k+2)} = v_n^{(k+1)}$$
(17)

we find

$$v_n^{(k+1)} \to 0(B). \tag{18}$$

Moreover, it is obvious from (15) that

$$\sqrt{n}\Delta v_n^{(k+1)} = o(1). \tag{19}$$

Considering (18) and (19) together with Lemma 2.7 we obtain

$$v_n^{(k+1)} = (n+1)\ell_{n-1}\Delta t_n^{(k+2)} = o(1),$$
(20)

that implies

$$\sqrt{n}\Delta t_n^{(k+2)} = o(1).$$

Now, applying Lemma 2.7 to the sequence $(t_n^{(k+2)})$ we conclude

$$\lim_{n \to \infty} t_n^{(k+2)} = \xi.$$
(21)

Using (20) and (21), we get via identity (17) that

$$\lim_{n \to \infty} t_n^{(k+1)} = \xi.$$
(22)

By Lemma 2.1, we also have

$$v_n^{(k)} - v_n^{(k+1)} = (n+1)\ell_{n-1}\Delta v_n^{(k+1)}$$

which necessiates

$$v_n^{(k)} = o(1)$$
 (23)

from (15) and (20). Therefore, since

$$t_n^{(k)} - t_n^{(k+1)} = v_n^{(k)},$$

we conclude $s_n \to \xi(\ell, k)$, which completes the proof.

Corollary 3.6. If $s_n \to \xi(B)(\ell, k+1)$ and

$$v_n^{(0)} = o(1), \tag{24}$$

then (s_n) is convergent to ξ .

Proof. Suppose $v_n^{(0)} = o(1)$, then for all integer $k \ge 1$, we get $v_n^{(k)} = o(1)$. Hence, by the identity $v_n^{(k)} - v_n^{(k+1)} = (n+1)\ell_{n-1}\Delta v_n^{(k+1)}$, it follows

$$n\log n\Delta v_n^{(k+1)} = o(1).$$

Thus, from Theorem 3.2 we obtain $s_n \to \xi(\ell, k)$ which is equivalent to $t_n^{(k-1)} \to \xi(\ell, 1)$. Since,

$$v_n^{(k-1)} = t_n^{(k-1)}(v_n^{(0)}) = v_n^{(0)}(t_n^{(k-1)}) = o(1)$$

we get $s_n \to \xi(\ell, k-1)$ by using Lemma 2.5. Continuing in the same fashion, we conclude $\lim_{n\to\infty} s_n = \xi$. This completes the proof.

References

- [1] Borwein, D., (1958), A logarithmic method of summability, J. Lond. Math. Soc., 33, pp. 212–220.
- Braha, N. L., (2016), A Tauberian theorem for the generalized Nörlund-Euler summability method, J. Inequal. Spec. Funct., 7 (4), pp. 137–142.
- [3] Çanak İ., (2014), Some extended Tauberian theorems for $(A)^{(k)}(C, \alpha)$ summability method, Acta Sci., Technol., 36 (4), pp. 679–683.
- [4] Çanak, İ., Erdem, Y. and Totur, (2010), Ü., Some Tauberian theorems for (A)(C, α) summability method, Math. Comput. Modelling, 52 (5-6), pp. 738–743.
- [5] Erdem, Y. and Çanak, İ., (2016), A Tauberian theorem for the product of Abel and Cesàro summability methods, Georgian Math. J., 23 (3), pp. 343–350.
- [6] Erdem, Y., Çanak, İ. and Allahverdiev, B., (2015), Two theorems on the product of Abel and Cesàro summability methods, C. R. Acad. Bulg. Sci., 68 (3), pp. 287–294.
- [7] Hardy, G. H., (1949), Divergent Series, Clarendon Press, Oxford.
- [8] Ishiguro, K., (1963), Tauberian theorems concerning the summability methods of logarithmic type, Proc. Japan Acad., 39, pp. 156–159.
- [9] Kwee, B., (1967), A Tauberian theorem for the logarithmic method of summation, Proc. Cambridge Philos. Soc., 63 (2), pp. 401–405.
- [10] Kwee, B., (1968), Some Tauberian theorems for the logarithmic method of summability, Canad. J. Math., 20, pp. 1324–1331.
- [11] Kwee, B., (1989), The relation between the Borel and Riesz methods of summation, Bull. London Math. Soc., 21 (4), pp. 387–393.
- [12] Loku, V. and Braha, N. L., (2017), Tauberian theorems by weighted summability method, Armen. J. Math., 9 (1), pp. 35–42.
- [13] Mureşan, M., (2008), A Concrete Approach to Classical Analysis, Springer, Berlin.
- [14] Móricz, F., (2004), Theorems relating to statistical harmonic summability and ordinary convergence of slowly decreasing or oscillating sequences, Analysis (Munich), 24 (2), pp. 127–145.
- [15] Parameswaran, M. R., (1957), Some product theorems in summability, Math. Z., 68, pp. 19–26.
- [16] Parameswaran, M. R., (1994), New Tauberian theorems from old, Canad. J. Math., 46 (2), pp. 380– 394.
- [17] Ramanujan, M. S., (1958), On products of summability methods, Math. Z., 69, pp. 423–428.
- [18] Sezer, S. A. and Çanak, İ., (2018), Tauberian theorems for the summability methods of logarithmic type, Bull. Malays. Math. Sci. Soc., 41 (4), pp. 1977–1994.
- [19] Szász, O., (1952), On products of summability methods, Proc. Amer. Math. Soc., 3, pp. 257–263.
- [20] Totur, Ü. and Okur, M. A., (2016), On logarithmic averages of sequences and its applications, Kuwait J. Sci., 43 (4), pp. 56–67.



Dr. Sefa Anıl Sezer graduated from Department of Mathematics, Faculty of Science, Ege University, Izmir, Turkey in 2010. He received his PhD in Mathematics from Ege University in 2018. He is a member of Faculty of Engineering and Natural Sciences of Istanbul Medeniyet University, Turkey since 2011. His research interest focus mainly in summability theory and its applications.